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(4) Q¥ BHG 16 ¥ 19 AB GAE 04 3 W ¥
(5) WeT BHE 20 § 23 AB UAE Q¥ 4 AE B 8
instructions -
(1) All questions are compulsory.
(2) Question number 01 to 05 are objective question and question carries
I x 32 = 32 marks.
(3) Question number 06 to 15 each question carries 2 marks.
{4) Question number 16 to 19 each question carries 3 marks.

(5) Question number 20 to 23 each question carries 4 marks.
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() 0.3x 0.8 & [orwed gy
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@ 0.24 I
(|) 0.36
@) 0.48

(i) % (4.5) @ 31 a1 5 @
3 5
@ 4
| -5

) (@) -4

(@ =t s 80 - 100 & v o iy & —
() 80
@ 90
(|) 100
@) 85

(iv) 98UC 4x2 +5x+ 7 B uma & -
() 2 :
(@ 3
(/) 7
(@) 5

(v) ¥ &1 75 g2 ? -
(%) mreh
@ Re(r+n)
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(vi) [10] x [9 )= [15) «[7 | @archt atasy # ey Zrft -
(3) 6
@ 5
@) 7
(®) 4
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Choose the correct oplion and write it in your answer book -

(i)  Theproductot0.3 x08is -
(ay 012
(b) 0.24
(c) 0.36
(d) 048
()  The value of abscissa of the point (4, 5) 1s -
(@) 5
(b) 4
(c) -5
(d) -4
(m) In the class interval 80 -100 the lower limit is -
(a) 80
(by 90
(c) 100
(d) 85
(iv) The degree of the polynomial 4% + 5x + 7 is -
(a) 2
(b) 3
(c) 7
(dy 5
{(v) The curved surface of a cylinder is -
(a) mreh
(b) mr(r+h)

(c) 2nrh
@ ; mr*h
(vi) {10]x[9 |=[15]x[? ] The number in the empty box will be -
(a) 6
(b) 5
(c) 7
(d) 4
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W2 faa e n af) Qe e ffam -

() < ulin weamsy & wen

(m A e qg

--------------------------

(V) 79 @ ¥ 3 BDaga s

(1x7=7)
aR%g wear 8l 2 )
(srere /0/10)
(3/2/9)
(0/1/2)

L T P T, Elliil g I

(@ma / S / rean)

(rEravs / o/ wa )

FEATAT ¥

(vit) wmarg o &1 weds wror

Fill in the blanks with correct option -

BIaT &1 (45°/60°/90°)

() Thereare ................... rational numbers between any

wo rational numbers. (many/0/10)
() The coefficient of x* in 3xis e, (3/2/9)
(y PE)+P(E)= oo (0/1/2)
(iv) The longest chord of a crclets ... of

the circle.

(v} The centre of circle lies in

circle.

(exleriorfinterior/major)

(vi) The part of a straight line which has two endpoints is called

...... . (Iinesegmenliray/collinearpoinls)
(vi) The measurement of each angle of equilateral triangle is
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g3 ¥ N3 s fafag -
afem ¥ ®fem T
!i) 0.45 + 0.25 (®) -34
(ii) - (@ 0.8
(i) (-4) x (2.5) (1) 0.05
(iv) -35+25 @ 0.70
v : (®) 10
) 3 (@ -1
Match the columns and write the correct pairs -
Column A Column B
() 0.45+0.25 (@) -34
(il {‘—‘ (b) 0.8
(iii) (-4) x (2.5) (c) 0.05
(iv) -35+25 (d) 0.70
4
v) 3 (e) 10
Vi) 5 ) -
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g4 /3w fafke - (1x6=¢)

ymmmwwmaman

i) P Wad 3fd IR AR aren deor w1 A A& Bar 24
WWWW:%(MXM)W%I
yagﬁwa%amaﬁvﬁmmasommréi

) TS PN F a1 90° A # |

M TR X+ 2y = 5% A x= 17y =280

Write true/false -

()  Every natural number is a whole number.

(i) A mode is not that value among the observation which occurs

most.
. 1 .
(i} Area of triangle = ; (Base x Height).
(iv) The sum of all four angles is 360°,

(v} The sum of supplementary angles is 90°.

(vi) The value of y in equation x + 2y=Sifx = 1 wil be 2,
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U5 UF a1 A Ier fafu - (
1X7=7)

) e R @ Pdeis fafan

(i) 2 =R a1 @ Wad wiavo

(ill) TR wepist &1 dawa @ dar 27

(iv) o9 & Jmaa &1 g fafan

(V) 0% Rad &) IuTeR W fd o & afear g g?

(vi) wwarg Prfa @ o &7

(vii) TF 8 IR (@1 WER IMRY) A IR W@R GIE TS FHR TP

fraad dra Rua #d &

Write answers in one word/sentence -

(i) Write the coordinates of onigin.

(i) Two variables in a linear equation is called.

(i) What is the area of parallelogram?

(iv) Write the formula of volume of cube.

(v) What is the probability of getting a tail when a coin is tossed?
(vi) What is equilateral triangle?

(vii) In which lie between parallelograms on the same base (or equal

bases) and having equal areas?
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(2)

2
6 mva @ — 25 2

Simplify - 25, 23
Juar/OR
Fra g @ — 3
Find- 325
T =@ W aRiga @ @)

Rationalise the denominator of -%

s7a1/OR
WA AR - (V5-V3) (V5 + v3)
Simplify - (V5-V3) (V5 '+ v3)
98 x=0 W qgUT 5x — 4x2 + 3 &1 [P §T @y | _ (2)
Find the value of the polynomial 5x - 4x? + 3 at x = 0.
Sivar/OR
w@ﬁmmmﬁnm@ﬁwﬁrﬁaﬁmmmmh
(x +4) (x + 10)

Use suitable identities to fing the following products -

(X +4) (x + 10)
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Y10

PR R

(104)° &1 AF sa oo |

Evaluate the value of (104)°.

Jear/OR
W on 52 5 103 x 107 @) ava |
Evaluate 103 x 107 without multiplying directly.
FTT e 3 R g A Refy PuiRa st arch AR @ Frahr v
® AW F 2
What is the name of horizontal and the Certical lines drawn to
determine the position of any point in the Cartesian plane?
Jgar/OR
et R (4,3) 3w 3 R & Ffkwr Aifdre
Write the abscissa and ordinate of paint (4, 3).
A Y 70 ARNBT B ax + by + ¢ =03 w H v 3k g Ry
§a,baRcd AW TR - 2x+ 3y =437

Write each of the following equation in the form ax + by +c=0and

indicate the values of a, b and c each case - 2x + 3y = 4.37.
Jvar/OR
k @1 919 S0 BT, AR x = 2,y = 1 Ffawwr 2 + 3y = k &1 @@ & A

Find the value of k, if x = 2, y = 1 is a solution of the equation
2% + 3y =K.

()

@)

@)
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R el
912 WHRR apfst @) utening QUG (e gUS Sl B A &
ferfaay |
L . I
Write the definition of parallelogram and write the formula of area 0

parallelogram also.

rar/OR
G W ABCD (o #wier st @ R EFCD ¢ omaa &) o &
ALLDC & fyg #farg f - ar (ABCD) = ar (EFCD)

E_A . B

H
D L - C

Infig. ABCD is a parallelogram and EFCD is a rectangle. Also ALLDC.

Prove that -
" ar (ABCD) = ar (EFCD)
E A - B
"
D L - C

9.13 mmmwammq@ummaﬁmfﬁmmam
1099, 2 3R 3R A Bram 789, 8

Find the curved surface area of right gircular cone whose slant height

1s 10 cm and base radius is 7 cm.

e e - - ———
e ———
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Sar/OR

739, By arl v ma TS Sawd am i |
Find the surface area of a sphere of ragiys 7 cm.

T ; '

Cd frde iy O R T e ¢ 30 et # 6 e e e 2

qH A AR T ) WS s A

In a cricket match a bats-woman hits a boundary 6 times out of 30 balls

she plays. Find the probability that she did not hit a boundary.
Jyar/OR

i@ &1 g3 fafag |

Write the formula of probability.

e R & 1000 IR I8 W fAsfafya aRara ara 26 & -

fra - 455, ge - 545, @ fo @ wRyE Fa)

‘A coin is tossed 1000 times with the following frequencies -

Head — 455, Tail - 545, then the probability of head.
sgar/OR
F Gy B GE | 4 F T3 AT A B WS ;W B |

Find the probability of getting a number greater than 4 in a single throw

of a die.
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016 u@ﬁﬁ.mPO&ﬂ?HSWﬁgomaﬁiﬂ?m?I!ﬁ
£POR:ZROQ = 57 2, at it sio1 sma A ¥

R [3960

In fig., lines PQ and RS intersect each other at point O. If

£POR: ZROQ= 5:7, then find all the angles.

—— D i S——
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=AC & @ ZBaen £C
(3)

ABC is a right triangle in which ZA = 90° and AB = AC, then find the

value of «B and .C.
Svar/OR

R 5 e g g & wes @ 600 g 2

Show that the angles of an equilateral triangle are 60° each.

Rz PR fF g9 A o dam 3% ® R 3 saRa s )

Prove that equatthords of a circle subtend equal angles at the centre.
syar/OR

599 7 3 . o o A 39 A R W ofase 3w & aur o

a1 @ @9 A gd 4 . R swafis e A TwE @ A

Two circles of radii 5 cm and 3 cm intersect at two points and the

distance between their centers is 4 cm. Find the length of common

chord.
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q15 'Qiﬁaﬂvﬁ'ljdiﬂéfiﬁ 10 A 3 Fy=fafeaa e BT -
2.3,4,50,1,33,4,3
$ Ml & "Ang AR Tgad ST AT |
The following number of goals were scored by a team in 10 football

maiches -
2,3,4,501,33.4,3

Find the mean and mode of these score.

Ja /OR

W e & 9 Rl o @vd dewi F) dangat A ¥ -
155,160,145,149,150,147,152,144,148

1 JiSe B1 wfgd s A

The heights (in cm) of 9 students of a class are as follows ~
155,160,145,149,150,147,152,144,148

Find the median of this data.

520 %W%Wa:&ma%mﬁhw*wmmml @

The angles of a quadrilateral are in the ratio 3:5:9:13. Fing a| the
;gles of quadrilateral,
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941/ OR
T B Y AR TR faf
{‘_ﬂ’ﬂé any four properties of a rectangle.
721 80° & BV TR, IHH RS (Fromis) i
Constnfpt an angle of 90°, then draw an angle bisector of that angle.
3uq/OR
30° 7 A v Fifvg
Construct the angle of 30°.
922 @ P @ e W A R A o 8 ¥ s 11 A, &
foreran oftema 32 ¥, 8
Find the area of triangle two side of which are 8 cm and 11 ¢m and the
perimeter is 32 cm.
Jua/OR
0T Prirer @es A gl F I 3:5:7 & 3R SEH wfNm 300
frex 2| 30.0@VS F AFGA T BN |

The sides of a trianguiar plot are in the ratio of 3:5:7 and its perimeter

is 300 m. Find the area of this piot.

(4)

(4)
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123 T@ MR & A WA AR Rrw gt aEed 154 a2 B
Find the volume of sphere whose surface area is 154 cm?.
e /OR
T AR T B AR A TRRY 132 3 IR SER Fa 25 . B
Wmimmmmmt}ummm:nﬁw

The circumference of the base of a cylinder vessel is 132 cm and
~Height is 25 cm. How many litres of water of water can it-hold?

44000 cm? = 1 litre)

—
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